QP Code: 25492
[ 3Hoursg] [Total Marks: 100]

N.B: 1. Attempt all questions.

2. Figuresto theright indicatefull marks.

1. Answer inoneor two sentences : 20

(a) Define mediate inference, Give an example.

(b) Give an example of ambigious minor term in categorical syllogism.

(c) Give the symbolic expression of pure hypothetical syllogism.

(d) Symbolise and state the Rule of Inference. If he is géiyvill be punished. He
is guilty therefore, he will be punished.

(e) Symbolise and state the Rules of Replacement. 'It is false thatitiee isfcorrupt
and he has to be punished' is equivalent to 'either it is not true thati¢ke isf
corrupt and he should not be punished.

() Give an example of Complex Destructive Dilemma.

(g) Reduce directly DAISI.

(h) Sate the diferencebetween Modus Ponedddens and Modu$ollendo Ponens.

(i) What are the conditions to.establish a hypothesis ?

(j) Define a hypothesis.

2. Write short notes otany four) : 20
(a) Prove the special rules of figure | of categorical syllogism.
(b) Fallacy of petitio principii and amphiboly
(c) Directive and expressive use of language.
(d) Volunti-non-fit-injuria.
(e) Any three impediments to good reasoning (Richard Feldman)
() EmotiveWords.
3. Attemptany two questions : 12

(a) Test the validity of the following categorical syllogism. Identify the figure.
Give reasons.

(i) Allrational beings are responsible for their actions. No lower animals
are rational beinglherefore, No lower animals are responsible for
their actions.

(i) - All Frenchmen are Europeardl Germans are Europeans. Hence,
all Germans are Frenchmen.

(b) Reduce Indirectly :
BAROCO
(c) Identify the following fallacy Give Reasons :

(i) The Lokpal Bill is passed by the Parliament.

Mr. Tiwari is a member of the Legislativessembly
0 Mr. Tiwari must have voted in favour of it.

(i) The machine is made of material substance

0 Every part of machine is made of matter [TURN OVER

35B07B2DC6A 79D CA08CO7EF665C25E01
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(i) This strike is illegal. If the workers do not report for their duties
within three days, their services will be terminated.

4. Answer thequestions no. 4(f) andany three from Q. No. 4 (a), (b), (c), (d) & (e) : 48
(a) What is the dictum dAristotle ? Show how the dictum forms the basis of all
types of categorical syllogistic reasoning.
(b) Explain the following :
(i) Argumentum-ad-miscericordiam aAdyumentum-ad-populum.
(i) Kinds of agreement and disagreement
(c) Explain with examples any three kinds of Hypothesis.
(d) Explain the popular notion of cause.
(e) Ends justify means. Explain with reference to any two cases according to
Peter Singer
(f) Construct complex constructive dilemma, rebut and refute it.
If the sales tax raises prices, it benefits the producers and if it lowers the
prices, it benefits the consumer
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R. dfeyd fodn fetal (ehivTadl 9r) 30
(37) hael HiqeHT=T Y| 3R Ty fem =, fag .
(9) FHRI qeheIy 3T : AT deh Q.
() 9= TAcaTTeneh 3T SeTeHeh ITT.
(8) Volunti-non-fit-injuria.
(3) g feamrdiier shivradt A 31U (Richard Feldman)
() HIEHTcH s,

3. Wreoliel I3 Gigdl (Shivgl aF) ¢ 93
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(S) HRIBRUTAT Hifsheh AT SHTERIH hedd I3 .
(3) Wit HIR Ir=amd qNoTH SEHTAT GHIENSG STEAT. HivTE! gF cases AT
Hewld foraur o,
(%) Sfeat framres IRttt T s forsmt s 1foT grfersentor sy, S fershiehtges
fopmelt aTedial T eI =T o Bisa STl SR foshieged fohmet et
BIdiel T SUHIFIT ATH Bsad.
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